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75 Ty 11 B G5 (A= w4 | MR RS
1 YA uR = S HrkxRk (07974 1000290386 Bk 68.6
2 2o f i L *xkxk(07975 1000290396 XIJx* 42
3 RN AU =S LN *ikkkx (07977 1000290405 R 75
4 AR R AE S LN HHxRk(07979 1000290412 X[ 46
5 SRR R AE SN Hrxkk (07981 1000290419 Fhox* 75.4
6 SRR R AE S SEiN Hrkxk*()7982 1000290421 il ** 75.4
7 SRV A =L *xkxk() 7983 1000290426 e 68
8 AR e gD *ikkk (07984 1000290441 Bl 70.8
9 SRR R AE S SEiN Hrkxk (07985 1000290443 Hr+* 78.2
10 SRR R AE S LN *rkxk*(07986 1000290444 [k 75
11 YA =L N *xkxk() 7988 1000290448 G 60.6
12 YA =L N *xkxk() 7989 1000290451 e 82.6
13 ARy Rk - S *xkk(07990 1000290454 Forx 20.2
14 Lk I SRR Hkkkkk()7991 1000290460 e 77
15 AR R AE SN *xkxkk( 7995 1000290469 P 53.6
16 TR OAAR =S R *xkxk*(07996 1000290473 e 75
17 TR OAAR =S Rt xRk (07997 1000290479 BT 69.4
18 RN Rk - S *ikkkx (07998 1000290484 Fiirx 51.2
19 Y04 AE 3L N Hokkkkk() 7999 1000290495 Zww 78.4
20 Y04 AE 3L N *kikx (08000 1000290496 XIJx 59.6
21 RN Rk - S *xkxk(08002 1000290510 AR 69.4
22 RN Rk - S *rxkx(08003 1000290528 [ 70
23 ARy R AR SN *xekk(08005 1000290566 /R 77.6
24 ARy ORI AE SN *xkxerk(08006 1000290568 ex 67.4
25 Y AR = SLT *rrkk (08008 1000290574 Je 77.2




75 T 11 B G5 (A= w4 | MR RS
26 SRy A uR = SR k08009 1000290575 T 70.4
27 YA =S LN *irkrk (08010 1000290576 i 77.2
28 RN AU =S LN Hikikx (0801 1 1000290581 XIJx* 70
29 ERY ORISR 2 S *xkrx(08013 1000290583 Hpor 61.8
30 lag ~Sp e *ikx (08014 1000290388 fE*= 64
31 lag =P k(08016 1000290392 Rk 65
32 RS *iokkkx (08017 1000290395 ES 67
33 IR 237 R *rxktx(08018 1000290407 G 71
34 fiag 2P e k(08023 1000290452 Ak 81.8
35 fiag 2P e *kkx (08024 1000290456 X[ 58.8
36 gk *xkrk(08025 1000290459 B 67.2
37 AR SR *xrk(08028 1000290470 Y S 43.6
38 gk *xkk(08030 1000290491 G 81
39 fiag 2P e k(08036 1000290516 X[ 61.6
40 fiag 2P e *xxkk (08037 1000290517 Hax 65.6
41 RSP R *rxrx(08038 1000290518 G 81
42 AR SR *xkxx(08039 1000290523 g 76.6
43 IR =3P R 2 rirk (08041 1000290541 The 83
44 fiag =P e Hrkxix (08042 1000290545 o 86
45 iR =8P R=4 Hrrkk(08043 1000290547 Frx 72.6
46 IR 2SP R rinkkk (08044 1000290550 G 63
47 IR =3P R 2 rikkkk (08045 1000290553 B 62.8
48 fiag e P e *rkxix (08046 1000290554 jher* 67.8
49 fiag =P e Hrkxix (08049 1000290559 Jex 83.2
50 fiag =P e *rkxkx (08050 1000290577 (5 79.2
51 IR =3P R 2 *rxkk(08051 1000290578 XIJx* 74
52 iR 2SP R *xkxk(8052 1000290584 [ 78.8




